
Integral Proficiency

December 5th MATH 251 Fall 2017

Circle your Instructor: Faudree, Williams, Zirbes / 15

Name:

This is a 30 minute quiz. There are 15 problems. Books, notes, calculators or any other aids

are prohibited. Calculators and notes are not allowed. Your answers should be simplified unless
otherwise stated. They should begin y0 = or f 0(x) = or dy/dx =, etc. There is no partial credit. If

you have any questions, please raise your hand.

Circle your final answer.

For each function below, find the definite or indefinite integral.

1.

Z 1

0
(1� 8v3 + 16v7)dv

2.

Z
sec ✓(tan ✓ + sec ✓)d✓

3.

Z
7x4

2 + x5
dx

v-1 UAF Calculus 1

= v - 8g v4 + Ig v 8) to = v - 2v4+2v8]l
.

= ( 1 - 2 + 2) - ( o ) =

�1�
=

f@cotanotsec2Efdo-secottanotCietu.z

+ ×s

= ¥ ) ¥ = 75 Mutt C =¥lnk+×€

du = 5×4 dx

ts du=x4d×
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4.

Z
sin(5⇡x)dx

5.

Z
e1/x

x2
dx

6.

Z 1

0

5

1 + x2
dx

7.

Z
sinx

cos5 x
dx

v-1 UAF Calculus 1

= sat f Sinn du = z,÷ cos u + C

let u=5HX

du= 5Idx =  zt cos (5I×) + C

¥ du = dx

=

fxtektdxfeudu
= e

"
+ c

- I

×

let u=I
' = e + C

du= -
xtdx

= Sarctan # = 5 ( arctanl - arctano )

= 5 ( It - D= 5¥

=
- Susan = ¥ it + c = ¥ ( as # + c

let u= cos X

du = - sin xdx

Gordon
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8.

Z 1

0
(5 + 10x) dx

9.

Z ✓p
5x+

x

3
+

3

x

◆
dx

10.

Z
t2 � 2p

t
dt

11.

Z
e�4rdr

v-1 UAF Calculus 1

= sxtnto '0×1=4this) - of + ⇒
q

= 5 + -

:
 - ffrs. xkttzx + 3. f) dx

= Vs .

2g ×
"

2++6×2+3 In 1×1 + C

= 255×312 + to Et 3 In K It c

= S ¥2-
2E" 3at = § t%

. 4 t

' '
+ c

= ¥ feud u=  ÷
,

eu + c = yt etr to

u= - 4 r

du = - 4 dr

- f du = dr
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12.

Z
4xp
1� x2

dx

13.

Z
1

(8x� 1)1/3
dx

14.

Z
lnx

x
dx

15.

Z
sinx sin(cosx)dx

v-1 UAF Calculus 1

-112
= -2fudu= -

4u"2+C

let u=1 - E = -441 . E) ktc
du= - Zxdx

-2du=4xdx

=¥fiBdu=¥ . } .u43tc

2/3
u=8xt

= ,÷(8x-D to

du=8dx

toodwdx

=fudu=tzu2+c=tz(lnxT+c
utlnx

du=t×

= - fsmudutcosutc
let u=wsx =cos( cosx ) + C

du= - sinxdx

- du= sinxdx


